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| PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes
each sentence, Then mark the correct choice on your answer sheet.

1- What was intended as a peaceful demonstration rapidly - into violence.

1) agitated 2) degenerated 3) preceded 4) discriminated
2-  The Democratic Party =----—--- 70 percent of the vote.

1) garnered 2) esteemed 3) obligated 4) assembled

-3-  Some animals can -——---—- very high temperatures.

1) detach 2) submit 3) obstruct 4) withstand
4-  Researchers have discovered that up to one half of all children born of alcoholics are

genetically -------m-- to alcoholism.

1) discerned 2) apprehended 3) predisposed 4) impressed
5- Communication via the Internet gives an important -----—--=to international trade.

1) dimension 2) exposure 3) expenditure 4) distribution
6- Lack of childcare facilities can be a major -------=== for women wishing to work.

1) dispute 2) routine .3) obstacle 4) contraction
7- Itis a common --- that women are worse drivers than men.

1) essence 2) impetus ! 3) fallacy 4y amusement
8 The for using this teaching method is to encourage student confidence.

1) advent 2) rationale 3) authenticity 4) constitution
9-  The degree of punishment should be ---—---—- to the seriousness of the crime.

1) inclined 2) receptive 3) prominent 4) proportional
10- Low inflation is the key to ---------- economiec growth.

1) sustained 2) congruous 3) extravagant 4) well-disposed

[ PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or
(4) best fits each space. Then mark the correct choice on your answer sheet.

Commonwealth of Nations is an international organization composed of independent states,
all of which were part of the British Empire. It was constituted by the Statute of Westminster,
(11) =mrmmmmmn the British Dominions were recognized as ‘autonomous communities’, (12) -------
the British Crown. Since 1947, when India chose (13) ----==---- within the Commonwealth, it
has consisted of an'ingreasing number of republics, so that the role of the British monarch, who
15 the head of only seventeen (14) --------—- a total ‘of fifty-three member states, is confined
(15} ~=—mmm- head ef the Commonwealth. Given that its member states have little in common
apart from a historieal tie to the UK, it has rarely been able to influence world affairs, except
pérhaps for its leadership on the international imposition of sanctions upon South Africa.

11- 1)so 2) which 3) so that 4) in which
12- 1) binding together 2) bound together by
3) tegether having bound 4) having bound together
13- 1) to remain 2) remaining 3) forremaining 4)to be remained
14- 1) by 2) out of 3) within 4) outside

15- 1) for 2)to who 18 37 to that of 4) that she 1s
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Directions: Read the following passage and choose the best chaice (1), (2), (3), or (4).
| Then mark in on your answer sheet. .

In agriculture, postharvest handling is the stage of crop production immediately following
harvest, including cooling, cleaning, sorting and packing. The instant & crop is removed from
the ground, or separated from its parent plant, it begins to deteriorate. Post-harvest treatment
largely determines final quality, whether a crop is sold for fresh consumption, or used as an
ingredient in a processed food product. The most important goals of post-harvest handling are
keeping the product cool, to avoid moisture loss and slow down undesirable chemical
changes, and avoiding physical damage such as bruising, to delay spoilage. Sanitation is also
an important factor, to reduce the possibility of pathogens that could be carried by fresh
produce, for example, as residue from contaminated washing water. After the field, post-
harvest processing is usually continued in a packing house. This can be a simple shed,
providing shade and running water, or a large-scale, sophisticated, mechanized facility, with
conveyor belts, automated sorting and packing stations, walk-in coolers and the like.
Regardless of the scale of harvest, from domestic garden to industrialized farm, the basic
principles of post-harvest handling for most crops are the same: handle with care to avoid
damage, cool immediately and maifitain In coel conditions, and cull Once harvested,
vegetable and fruit are subject td an active process of decay. Numerous biochemical
processes are continuously changing the original composition of the crop until it becomes no
longer marketable. Since freshness is an important factor in product quality, its evaluation
should rest upon objective methods, but until recently only sensory tests or mechanical and
colorimetric, criteria have been used.

16- The passage points to the fact that................

1) crop production is a stage of post-harvest handing

2) fresh crops are of higher quality thanyproeessed foods

3) processed food ingredients don’t need postharvest care

4) moisture loss is.a great problem with postharvest products
17- 1tis stated in the passage that .............

1) a pagking house may include walk-in coolers

2) post harvest chemical changes delay product spoilage

3) useful pathogens are produced through proper sanitatiunl

4) physical damages such as bruising can be avoided chemically
18- We. understand from the passage that poshravest handling depends most of all on

1) constant temperature - 2) selecting quality products

3) packing crops immediately 4) enough cool shade and watw_ .
19- The passage points to the fact that a product’s ............... I8 taken to be an index of its

freshness today.

|) marketability 2) color 3) taste 4) harvest date
20- The word “cull” in the passage (underlined) is closest to .......ocvevvnne

1) ‘store’ 2) ‘damage’ 3) ‘select’ 4) ‘process’
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Phoenix dactylifera, commonly known as the Date Palm, is a palm in the genus Phoenix. The
Date Palm is dioecious, having separate male-and female plants. They can be easily grown
from seed, but only 50% of seedlings will be female and hence fruit bearing, and dates from
seedling plants are often smaller and of poorer quality. Most commercial plantations thus use
cuttings of heavily cropping cultivars, mainly "Medjool' as this cultivar produces particularly
high yields of large, sweet fruit. Plants grown from cuttings will fruit 2—3 years earlier than
seedling plants. Dates are naturally wind pollinated but in both traditional ‘oasis horticulture
and in the modern commercial orchards they are entirely pollinated.manually. Natural
pollination occurs with about an equal number of male and female plants. However, with
assistance, one male can pollenize up to 100 females. Since the males are of value only as
pollenizers, this allows the growers to use their resources for many more fruit producing
female plants. Some growers do not even maintain any male plants as male flowers become
available at local markets at pollination time. Manual pollination is done by skilled labourers
on ladders, or in some areas such as Iraq they climb the tree using a special climbing tool.
Less often the pollen may be blown onto the female flowers by a wind machine.
Parthenocarpic cultivars are available but the seedless fruit is smaller and of lower quality.
Dates ripen. in four stages, which are known throughout the world by their Arabic names
kimri (unripe), khalal (full-size, crunchy), rutab (ripe, soft), tamr (ripe, sun-dried).

The passage mentions that ...............

1) there are both male and female dioecious dates

2) nearly half of the date seeds are not fruit bearing

3) the genus Phoenix includes two varieties of palm

4) seeding plants are usually small and of poor bearing
It is stated in the passage that .............

1) cropped and productive dates are galled Medjools

2) 2-3 year-old date cuttings grow all the year round

3) dates are pollinated by hand even in gommercial orchards
4) male and female date plants need equal pollination
The passage points to the fact that ...............

1) both male and female date palms bear fruit

2) each female palm is pollenised by 100 male dates

3) some growers get male flowers only for pollination

4) several spéeies of the Date Palm are ‘self- pollinating’

We may understand from the passage that Parthenocarpic cultivars of Phoenix dactylifera

1) don’t need any pollination 2) ripen at four distinct stages

3) are highlyproductive'species 4) need special ladders to collect

The word “crunchy’ in the passage (underlined) best relates to concept of the ...........
the food being eaten.

L)« taste’ 2) ‘noise’ 3) “size’ 4) ‘softness’
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The difference in gross primary production between traditional and high-yielding varieties
(HYVs) is limited; because until 2005 all attempts to improve the photosynthetic efficiency
of any crop have failed. The main explanation of the difference in yield between HY Vs and
traditional cultivars is the increased rate in which primary plant production is redirected to
harvestable products, such as grains. HYVs of food grains in general have much shorter
stems than traditional cultivars, which solves two problems: excessive investment of primary
production in the stem and eliminating the balancing problem, which limits the weight of the
halm and limits maximum production in traditional cultivars. In addition, HYV cultivars
respond favourably to high fertilizer gils, e.g. nitrogen. This is achieved, because an HYV
invests gross photosynthetic production in live cell material rather than in woody structural
materials, thus allowing for an increased vegelative growth. As a consequence, HYV crops
lack an important plant defence mechanism against predatory animals or fungi and are more
prone to pests and diseases than traditional cultivars, thus requiring both intensive fertilizer
input and high levels of pesticides. A third characteristic of H¥Vs is their homogeneity. In
general, HY'Vs are a cross between two inbred lines which produces a homogenous genotype
as offspring, a so-called F1 hybrid, which is genetically homogenous. This makes F1 hybrid
HYVs very suitable for mechanical crop care and processing and makes it likelier that a
certain choice of management parameters will approach the optimum combination for an
average plant, thus increasing yield. A drawback of the absence of genetic variation in F1
hybrid HY'V crops is the alarming rate in which pests and plant diseases can spread.

26- According to the passage, ......ocoaeienn

1) primary plant production cannot be redirected in some grains

2) the photosynthetic efficiency of some crop changes over time

3) shorter stems of HY'V food grains solve their balancing problem
4) production of high-yielding varieties has been limited since 2005

27- It is stated in the passage that HYV photosynthetic production leads to .........

1} better vegetative growth 2) less cultivar consumption

3) reduced primary production 4) increased uptake of introgen
28- Compared to traditional cultivars, HYVS ..o

1) would not need more fertilizers 2) need more direct exposure to light

3) have strong anti-pest mechanisms 4) are more ‘mechanical-processing-friendly’
29- We understand from the passage that F1 hybrid HYVY crops ...............

1) prodiee two inbred lines 2) are strongly resistant to plant diseases

30-

3) are quite alarming in actual genetic variation 4) can be generally more efficiently managed

The word “halm’ in the passage (underlined) is the same as ................
1} root’ 2) ‘stem’ 3) ‘leaf’ 4) *branch’
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